

A Statutory Body Of The Government Of India

DATE OF SUBMISSION: 5/29/2015 2:44:38 PM

Mode of Payment: DD/Payorder/Banker's

Cheque

DD/Payorder/Banker's Cheque Date:

29/05/2015

APPLICATION ID : NRCAPP11480

DD/Payorder/Banker's Cheque Number: 905104

DD/Payorder/Banker's Cheque Bank: Punjab National Bank, Rajahi, Nanda Nagar

Website: www.ncte-india.org

Particulars of the Authorized applicant

Name of the Applicant

Designation

Address

E-mail Address

Telephone No (Office)

Telephone No (Resi)

Mobile No

: MR VISHAL CHANDRA SHAHI

: MANAGER

: SHAHI NIWAS, PADLEYGANG (NEAR HYUNDAI SHOWROOM)

GORAKHPUR-273001

: VISHAL\_SHAHI@YAHOO.COM

: 0551 2682609

: 9415261827

: 7388609999

Name of the Applicant/Organization/Socity/Trust

WELFARE SOCIETY

: CHANDRA MAULI EDUCATIONAL

Postal Address of the Applicant

Plot Number

Village/Town/city

: SHAHI NIWAS

: GORAKHPUR

: PADLEYGANJ

Street/Road

: KASIA ROAD

Post Office

Town/City

: GORAKHPUR HEAD

POST OFFICE

Tehsil/Taluka State

: UP

: 273001

District STD Code

: GORAKHPUR : Gorkakhpur (UP)

Telephone No

: 7080108501

Fax No.

: 0551 : 0551 2682609

E-mail ID

Pin Code

CMINSTITUTE.GKP

@GMAIL.COM

3.

Website Address

WWW.CMEWS.ORG.I

Permanent Account Number of Society/Trust/bòdy

: AAATC8815D



A Statutory Body Of The Government Of India

Details of Programmes other than Teacher Education

Details of Programmes other than Teachers Education if any, run by the same Applicant / Organization / Society / Trust

Name and Address of the Institution	Name of the Programme	Level of the Programme		ation of	starting the	Name of the	Date of Affiliation
C M INSTITUTE OF	MBA	Part C	Prog	ramme	Programme	Board/Univer	
MANAGEMENT SCIENCES AND TECHNOLOGY KUSMI GORAKHPUR	TANZAN JANA	Post Graduate	2 Y		2008	UPTU ***	Jul 1 2008
C M INSTITUTE OF MANAGEMENT SCIENCES AND FECHNOLOGY KUSMI GORAKHPUR	PGDM	Post Graduate	2 Y	. 2	013	AICTE	May 10 2012
M INSTITUTE OF	MAM		Case			RH I	
ANAGEMENT CIENCES AND	WIPAW	Others	5 Y	20	13 U		Apr 18
CHNOLOGY KUSMI DRAKHPUR	DOM	Philippan					2013





A Statutory Body Of The Government Of India

### Particulars of Applicant Institution

Institution Information

Name of the Institution

Programm Applied for

Nature of Application

Mode of Course

: C M COLLEGE OF EDUCATION

: D.El.Ed

: Increase in Intake

Face

Complete Postal Address[As mentioned in the Affidavit]

Land Identification (Plot/Khasara No.)

Land Title

: C M COLLEGE OF

EDUCATION

Street Number

: NH-28

Post Office

: KUSMI BAZAR

Town/City

District

: GORAKHPUR

\_\_\_\_

: Gorkakhpur (UP)

Telehpone No

E-mail ID

: 0551 2682609

CMINSTITUTE.GKP@GMAIL.

0 =

COM

khatuni khata 817 GATA 638,660

Plot Number

: 638,660

Village

: RUDRAPUR

Tehsil/Taluka

: CHAURI CHAURA

State

: UP

Pin Code

: 273002

Fax No.

: 0551 2682609

Website Address

: WWW.CMEWS.ORG.IN

Institution is for

Institution is a Minority Institution

Type of Institutions

: Coed

: N.A.

: Private

(Please attach supporting documents. In case of institutions financed by Central Govt./State Govt./UT Admn. to the extent of not less than 50% of their recurring cost, a certificate to this effect from the Government concerned.)

Affiliating Body / University

Name

: STATE COUNCIL OF EDUCATIONAL RESEARCH

AND TRAINING, UTTAR PRADESH

Address

: STATE COUNCIL OF EDUCATIONAL RESEARCH AND TRAINING, UTTAR PRADESH, JBTU Campus

NISHAT GANG, LUCKNOW

Telephone Nos.

: 0522 2780385



A Statutory Body Of The Government Of India

**Details of Existing Teacher Education Programmes** 

Details of Existing Teacher Education Programmes run by the same applicant

Society/Trust/Organisation/Company

Name of the Institution		Date of Commenceme nt of the Programme	Existing approve d intake	ion	Recognition Order Date	Name of Affiliatin g Board/U niversity	Date of Affiliatio
C M COLLEGE OF EDUCATION	D.EL.ED (BTC)	27/04/2013		NRC/NC TE/NRC APP- 1046/20 2nd Meeting/ 2012/27	08/03/2012	S.C.E.R.	04/26/20 13

...



A Statutory Body Of The Government Of India

Details of already Submitted Application(s)

Details of the Application(s) for Teacher Education Programmes(s) already submitted by the same Applicant/Organization/Society/Trust which is/are pending for final decision

Name of the Institution	Date of Application	Applicati	Name of	Academic	Proposed		Status
			Program me	which applied		whom applied	

1.



A Statutory Body Of The Government Of India

Details of Infrastructural Facilities available for proposed programme

Area of the land in possession (in sq. mts.)

: 3000

Built up area earmarked for the programm (in

: 2294.99 /200

sq. mts.)

Whether the building constructed / proposed to : Yes

be constructed on the same land.

Date of completion of construction of the

: 31/12/2010

building.

Name of the competent authority for approval of : Tehsildaar Chauri Chaura GORAKHPUR

building plan and issue of completion certificate

Address of the competent authority for approval : CHAURI CHAURA GORAKHPUR

of building plan and issue of completion

certificate

Whether Bldg. is disabled -friendly as per the

Total Built up Area (in sq. meter)

: 2294.99

Total Built up Area (in sq.ft.)

: 24694.09

Specification of Rooms and other infrastructural faciliti

Description	Room No.	length in meter	Breadth in meter	Carpet area in sq.
Class Room	1	9.3	7.50	
Class Room	1	9.3	7.50	69.75
Multipurpose Hall	1	27.73	7.50	69.75
Multipurpose Room	1	21.80	7.50	163.50
Multipurpose .	1	21.80	7.50	163.50
Seminar room / utorial room	1	9.00	7.50	67.50

Library		1		12.07				
Principal Ro	om	1		13.97		7.50		104.77
Administrati	ve	1		5.23		7.50		39.22
Office				10.46		7.50		78.45
Store Room		1	Deti	5.23	Brain.	+		
Sports Store Room	54	1		5.23		7.50		39.22
Girls Common					371	7.50		39.22
Room				4.82		7.50		36.15
Boys Commor	1 1			4.82			edo a	30.15
Room				7.02		7.50		36.15
Art & Crafts Ro	om 1			9.00	the C	7.50		
Music Room	1			7.50		7.50		67.50
Socially Useful Productive Work	1			7.75				56.25
(SUPW) Room					1	7.50		58.12
Science Lab1	1			0.00	-			
Science Lab2	1			8.25	7	.50	-	31.87
Psychology Lab	1			3.25	7.	50		1.87
Educational	1			.75	7.	50		8.12
Technology (ET)	1		7	.72	7.	50		7.90
Vorkshop	1							
ny other Room /	1	ar of Pos		75	7.5	0	65	.62
all			5.2	23	7.5	0	919	.22
pilets (Male)	1		4.8	2	-			
ilets (Male)	1		4.8		6.90	)	33.	25
ilets (Female)	1	F. 17 3.45		California and	6.90		33.2	25
lets (Female)	1	A H. XI	4.00		6.90		27.6	30
ets (Female)			4.00		6.90	Films Ford	27.6	0
A FIRM TO THE			4.00	- EDV 8-	6.90	" Idlam's englis	27.6	

0-



A Statutory Body Of The Government Of India

### Details of Instructional Resources

Library

Total number of Titles : 370

Total number of Books : 2182

Journals : 12

Computer Laboratory

No. of Computers : 28

Internet Access : Yes

LAN : Yes

### Academic Staff (Applicable for existing institutions)

Details of Academic Posts available at present

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant Posts
Phy Edu	1	9300-34800	1	0
PRINCIPAL	1	15600-39100	1	0
LECTURER	6	9300-34800	6	0

Technical Support Staff

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant Posts
LIBRARIAN	1	5200-20200	1	0

### **Administrative Staff**

Details of Non-Academic Staff available at present

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant Posts
COM OPERAT	1	5200-20200	1	0
UDC	1	5200-20200	1	0
Class 4	2	4500	2	0

1. .



A Statutory Body Of The Government Of India

ngth in meter	Breadth in meter	Carpet area in sq.
38.5	19.5	750.75
	angth in meter 38.5	- Joseph III Motor

Website: www.ncte-india.org

13

PARTICIPATE ANTENOSIO

THE RESERVE